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All the 32 questions in both the section *A’ and ‘B’ are compulsory.
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Marks lor questions are indicated against eacl question.

Question No. tto 5 and 17 to 21 are very short answer type questions carrying I mark cach.
They are required (o be answered in one sentence or within 26 words cach

Question No. 6 to 10 and 22 to 26 are short answer type questions carrying 3 marks cach.
Answer to them should not normally exceed 60 words cach.

Question No. 11 to 13 and 27 to 29 are alse short answer type questions carrying 4 marks
cach. Answer 1o them should not pormally cxeeed 70 words cuch,

Question No. 14 to 16 and 30 to 32 arc long answer (ype qustions carrving € marks caech.
Answer to them should not normally exceed 100 werids each,

Answer should be brief and clear to the point and above word Hmit be adhered to as far as
possibie.

Star: from the first question and procesd to the last, Do not waste tine over a ¢uce stion if you
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Why does the problem of choice arise ?

SYHTETT @ gOTC WE I Y FuT wHey & 2 1
What do you mean by the budget set of a consumer ?
S A SuAfeT I B § 99 g srafiar Bre @ B @ 1
When 'marginal utility' is zero, then in following, the 'total utility' is—
i T (i) T iy =FaH (iv) LIS

zero maximum Mmiinmm negative
TG BAT R B 7 1
What is production function ?

aft f&e oxq Y & a9 ¥ v @ s fear & foseg fempamett & Wem oo =)
SIESEECIN IR R E AR Dt i i et i 1

If the market of a particular commodity consists of more than one seller but the number of sellers is few then,
in following, the market structure is termed as—

(i} THIRER (i) THIRET ulRRaT

monopoly monopolistic competition
iy ot gt (iv) BN

perfect competition oligopoly
sfeavell @) O I W e Seera @I | 3
Mention three central problems of an economy.
AT gz e a2t ke & 2 3
Why does demand curve slope downwards ?
WY a3l SR @ axqail @ 9 arar difvre 3
Differentiate between substitute goods and complementary goods.
el avq 1 qfT 7 9fyg @ 9 wRo gaee 3

Give three causes of an increase in the supply of a commodity. -

qof ufcrRifirar o8 faevarel @ seor @R |

Mention three featurcs of perfect competition.

Wwﬁﬁmaﬁwaﬁmwl 4

Explau il concept of marginal utility.

[N ]
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TEREIT asf [delNoT &1 U &xd §U SU9Il © Ao &I e B |

Explain the consumer’s equilibrium using indifference curve analysis.

M & iowa § A9 991 99s & ? UHH @ 930, Rer vd Ten ufdiwe w uesis ) 4

What do vou understand by returns to scale ? Explain the increasing, constant and decreasing scale of

returns.

ITGH B Aol H T AT § ? IHIE | 4
What does Producer’s Equilibrium mean 7 Explain.

AT B BT g B URNIAG HIRTT | 39 &Y 4797 el & ? |GEEey | 6

Definc price clasticity of dcmand. How s it measured 7 Explain

el STH, I ST SR S 37T & UROR G & [ &7 TErR § 9938y 16
Describe the relationship between total revenue, marginal revenue and average revenue diagrammatically.

A4t (OR)

oy @ <frr aRadt drra @ TorT Fifke—

IWUIEH - 1 2 3 4 5 6

Ftaa aRkadt e 60 40 30 | 2625 | 28 35
From the following calculate marginal variable cost —

Output(Q) : 1 2 3 4 5 6

Average variable cost : 60 40 30 26.25 28 35
gﬁmaﬁﬂﬁﬁmwws{ﬁ%? HAT SR YR, G @Ha B fhd TR g deell
2 7 6

What is equilibrium price ? How demand and supply affect the equilibrium price 7

EUg — ‘§° (Section — ‘B’)

=1 A 9 B BNl JeT e a— 1

Which ofthe following is called “fiat money’—

() oAl AlE G I @ Ryap (i) a® & (iv) 9T 9
currency notes gold coins chegque book pass book

Ho &) e ®ea § 7 1

What is Bank rate ?

=1 W o @, A 99d 9gRY (mps) O AW STEIT YgRT (mpe) H HEw 8- 1

Which of'the following 1s a relation between marginal propensity to save (mps) and marginal propensity to

consume {mpc) -

1)  mpc=1+mps (1) mpc=mps (i) mpc=1-mps (iv) mpc =—-mps
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aifRoe AW O @ s g ?

What is meant by inveluntary unemployment ?

freey Ay v w w®T FG B 7

What is the meaning of Foreign Exchange Rate 7

fte T AN WHite sefeme # 3y BT |

Ditferentiate between microeconomics and macrogconomics.

o TRe T R e TEE sare @ 49 Ag S |
Distinguish between gross domestic product and gross national product.
Brfera i afrefrg ame-—adl Yoa # e 8 7
What is the dilference between planned and unplanned inventory accumulation
frevh fafnry gom @ I B1d TRy |
State the main funciions of foreign exchange market.
ST 9§ Sl YU 99 B R S|
Define balance of trade and balance of payments.
TS aaRTel @) Hauawen & R &) asrgar 9 WEHEy |
Explain the concept of inflationary gap with the help of diagram.
TR GoTe BT U BT 3R gHd < 5w ILeg Wiy
Define government budget and give its two main objectives.

AY4GT (OR)
el ] SUehel FR 94T & 7 e & Q-3 Sarxyl < |
What is direct tax and indirect tax, Give iwo exampics of each.

AP BET & ERFR BT MU—TEI B TP B E, HHAIET |
“The fiscal deficit gives the borrowing requirement of the government”. Elueidate.
TN Ry A WO B @7 e fafy @ ool B |
Explain the Income method of caleulating National Income.
anqEiRE e o R ST e sue Bl @1 aud BIfei] |
Define Commercial Bank and explainits functions.
Ty (R W @l Sl ¥ Y s 5 ' T T Y Joord BT |
What is meant by aggregate demand ? What are its :nain components ? Mention.
31191 (OR)

ot RN T P GHST AT B PG T 7 IER afed FHSIST

What is Multiplier ? How is iz calculated ? Explain with example.

PTTT L
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